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1 #include <iostream>

2 using namespace std;

4  float temp; //EXERTEtemp

5 float fnl(float r); / /R £l

6 float &fn2(float r); / /R £n2

8  float fnl(float r) E#nl, BLOREMER A AREIRHE
91 {

10 temp=(float) (r*r*3.14);

11 return temp;

12 | }

13  float &fn2(float r) ¥ tn2, EUEIAARIREHHE
14 |

15 temp=(float) (r*r*3.14);

16 return temp;

19 int main ()

20 {

2 float a=£fnl(10.0); //B1FER, REERBRLENEIR BliERNTE)

22 //float &b=fnl(10.0); //Z2MER, HIFNES, £E5 | BREHEDIRE

23 float &d=£fn2(10.0); //EIMENR, RAFNEBREENEIZAR, ATUMNEIRARETIR

E—1T2REEM5|A
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24 float ¢=£fn2(10.0); / /BB aTIENR, TECHIEARMS, XU

25 cout<<a<<endl<<c<<endl<<d<<endl;
26 return 0;
27 |}
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A—DIENEEHM, MEEREF— LN TE, BLX5|ARERENZEE (Hnews
fo) BITERK, ERmemory leako

3. 5| E—ERMERNER, RIBER<<M>>, XM MREREEHEMRELER, F10 © cout <<
"hello" << endl; FXFEMEERHSREEN ZE— MYAZRIX M MEERBVRS | F.
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